T3St T LE 101107 187
.. e N BSAEIE
1 [ I = [
el ZEmsE AR NN EFEEFHRA] (FEE )
== 7 (RBMIEMREERT) | 5 GRamlEHERS]) 5 (RMm1EHEER])
e THERETER) 7 (BFEEETE) 7 (BFEEETE)
R 28 28 14
AR 1V (BwEETR) |UVA (BBREETE) | VA (BERiRETE)
R (5 &
e 7 7 7
R (5 B
SR AT 14 14 14
R (REE) B
O AT 21 21 21
R (5 B
P 28 28 28
R (5 B
AL A 30 30 30
1B 14 14 8
EERR 8 8 6
ol ) ) )
it E 2 . : .
e 14 14 14
e 21 21 21
i ) ) )
sz%%m% 15 15 10
R
4~ MeEeR -~ 1 10 10 7
gy
R
~ tHACEE ~ PO
i‘ﬁﬁil (40 5 5 3
B~ W eeihik
* (R R ) Tﬁ@(i@@) ~ ERR > BT -
*fﬂﬁx f@ﬁz 5

 BREERIEE

oy

ZA%?@E%EI




